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plot(hakusan[,c(1,3)],main="")

hist(hakusan[,1],main="AMAAEE" col="#539952")
hist(hakusan[,3],main="f&#Z" breaks=seq(-6,12,1.2), col="#3394FF")
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y <- hakusan[,1] z<- hakusanl,3]

plot(y,lag(y,k=2),pch=19,col="#539952" ylab="y(n-2)" xlab="y(n)")
plot(z,lag(z,k=2),pch=19,col="#539952" ylab="y(n-2)" xlab="y(n)")
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hakusan <- read.csv("hakusan_new.csv")

pairs(hakusan[,c(3,4,7)],col="blue”)
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crscor(hakusan[,c(3,4,7)])
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# AR(1) DAL +
t <-2:300 Hq;‘?&@]
r <- as.ts(rnorm(300)) “
x <- rep(0,300) ©
for (iint) x[i] = 0.9*x[i-1] + r[i]
plot(as.ts(x[101:300])) Rl
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t <-3:300
r <- as.ts(rnorm(300))

al <- 0.9*sqrt(3) =
a2 <--0.81 =
x <- rep(0,300) o

for (iint) _
x[i] = al*x[i-1] + a2*x[i-2] + r[i] =
plot(as.ts(x[101:300])) '
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FFT (Fast Fourier Transform)
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@) 2>DcosBAk+./ 4 X

# simulation of 2 cosine function + noise
t <-1:400
r <- rnorm(400)

y <- rep(0,400)
for (iint) {

y[il <- cos(2*pi*i/10) + cos(2*pi*i/4) + r[i]*0.1_ |
}

y <- as.ts(y)
plot(y)
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